Pie958 )
3TEhY

E%&p:q’n$0)ﬁfﬁbcp+q:1, pq:2’ T—{—$:3, 7"824@55%75\{@%0

A=prtgs, B=ps+qr &352% A+B=[7 |, AB=[1 ]85, ch&n,(4,8) =

([zl[=]). ((£1[2]) eB5. 2L, 2] > £ | v, s
Fre

A+B= prtgs+ ps+gr

-

- F(F%ff%?[kﬁg
(Pt (res)
= [+ 3
3 w7
AB= (pr+§) (pe+pr)
pPIrs + /;2,;«% F?“SZ* Zig;..
FS(P+E) + P (K4S
rs {(pep=2p g} 473 { (resimarsf

4 ( /2_;\2)+ 2‘(37:2#)
4:3)+2 |

o\

it

(s

\7]

“

(N

= \/O N ,{

ATB=3  AB=-r029 A (B3
i»} “:)))L'—IO: 0an %
CJL%)(?HZ):O N

(,-5"2) ("Z(g)

7 L AP

{4

¥ http://www.mathtext.info/



